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Instructions  : 1)  Each question carries 2 Marks.
2)  Answers should be written with Pen.
3)  Cancelled and overwritten answer will be not considered.
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1.  If the sum of my age now and my age 5 years ago is 27, then what was my age 3 years

before ?

I AT 9 F 9 5 Fuigater a3 gt aisr 27 = sréer 9T qrer 3 guigsts a9

femdt 2

2. The number of balloons, the balloon man has is the smallest whole number divisible by
1, 2, 3,4, 5 and 6. Then find the number of balloons he has ?

TRt GildTedIeh e STdeiedr Graiar 1, 2, 3, 4, 5, 30T 6 3 gut vt SrEr. 9t Sr=arens

et feedt G sraTae 2

3. 10% of 20% of x = 5 then find x ?

x T20%F10% =549T x =7

P.T.O.
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11.

A square whose area is 64 cm? is split into two rectangles whose area differ by 16 cm-.
Then find perimeter of the smaller rectangle ?

UeRT SHTS 9% 64 1.9 .01, 319 == 19 Aaaig=a #E fF9r=a e =i,
AT AARSTAS Gieh 16 9.9 .91, 378 97 =TUen! =gl SATadr=l giiadr girEr,

L

In number 7248.325; the place value of digit 2 at the left side is how many times of the
digit 2 at the right hand side ?

7248 325 BT U STateh aie 2 =i wofaas fehaa swaias gter 2 = wenfaes fahadr=ar
ferdtuz ame 2

What is the measure of the angle made by the two hands of the clock at 10 past 20
minutes ?

10 =S 20 fafaei=i asadter fafaester 3 TasnteT @ fandt sty =i g8 7

The sum of two numbers is 370 and the difference between them is 116 then find the
greater number.

I Tt & 370 YA =7 ST SEAHETe ieh 116 38 9T aTd=ht Wt TEAr
ShH1OTHT ?

In adjoining figure,

A D
{Exalnjﬂr 0 ABCD is a paralellogram;
from the information given find mZA.
IS ATHAME,
(x+ 30)° [ ABCD &1 Uy <ienT 313
B C fesrear mfgdasT mZA viver.

Ifx = -1,y = -2, z = 3 then find the value of x*-yz-zx.
ST x = -1,y = -2,z = 37 xi-yz-zx <t fehme wmaT.

The sum of money put at simple interest it becomes four times it self in 20 years.
then find the rate of interest.

Ueh TR W €. 91. .91, ShTal a0 mﬁﬁﬂaﬁ |aT 20 Fuid wrde g,
o =TT < feRdt sEET ?

What number is tobe subtracted from 841 to get the number whose squareroot is less
by 57?

841 TIT HEATT ShIUTAT HEAT ST Shiedl T@UTS JUTT=T HEa< S91Hes 5 7 =hul 18t ?




i 57
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Solve : HT=4T : 6°x 8 x4 =
Py’ x2x 2
30 meters Al el
P . 1 T i E In adjoining figure,
. ‘ | ‘ ‘ |l I N 0 PQRS and O LMNO are two rectangular,
L 30 fhetare O l grounds with size (30 x 25) meters and
(20 x 15) meters resp. In the shaded portion
a around the middle rectangle (O LMNO) some
.';""' | [ N tiles of size 50 x 50 cm. are placed.
Q | | | | R Find the number of tiles required.

e R, O PQRS s1rfur [ LMNO & 219 SiTaarehel shrsimor mqsrmﬁn‘rmq
SR (30 x 25) HWreT afoT (20 x 15) WeT R, HEodr STdrghdt HerrHiadt
aTEfaseaT taifes arma 50 x 50 |t wraT=aT fard BTy auadar et ?

Solve : HT=4T :

6.8x68 +136x3.2+3.2x3.2

1)
=J

(17.4) - 17.4 x 14.8 + (7.4)

Observe the adjoining figure,
area of the circle is 120 sg.cms.
Find the area of the shaded portion.

ArEa=AT 3ATehdre e A{rauT =,
T adeTy ke 120 = H. A
IOty T@ifehd AT fAAH hial.

Four members are in proportion. First and last numbers are 4 and 27 resp. From two
middle numbers one is 3 times of the otherone. Find the middle numbers.

AT T WHTUT SR, ST 4 1T 27 8t €1 Steaud 197 Jeaauaiuent

s U THAT USTAT 3 U TR a3 HEAUS v,

Average of three numbers is 234 and if first number is twice of the second and
third number is thrice of second then find the largest number of them.

Hr i TOEE 234 A, et ufgelt TEay guisar gue AT

forar T gEireaT fawe @i, a7 Fieht Wit WA ST ?

Solve : AT=4T :

(V288 +12) (V288 -1.2)

=7

P.T.O.

i
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P In the adjoining figure :
0(PS) = §(QS); B(PT) = O(TR), mMLSPT = 70°
Find m(£Q + £R)
] Ll Hraraear SAtehata U(PS) = 0(QS); U(PT) = I(TR),
o ST 1 R mZLSPT=70° atm(£Q + £R) =7

A sum of money will amount to Rs. 4125 in 5 years and in 3 years it will be Rs. 3675 then
what will be rate of interest per annum ?

UeRT Teh =T Sh1al 2374 WTSATATY 5 Fut=l 19 4125 +. a:lTﬁTEEﬂH‘TWSE?S'E
B HAEITH &.91.2. 91, =r=rar 27 fandt ?

The diamentions of plastic bags of sugar are 30cm. x 24cm. Then find the number of
plastic bags, those can be made in a square sheet with the side 7.2 meters ?

[HET GIULTHIST A9 shedodl W iech =T [ayregi=l eirat 30 Jdt, mfor w41 24 |,
e, ﬂ?zﬁaﬁmmmwmﬁﬁﬁ
fowT=aT grerer ?

There are 75 coins in a bus conductor’s bag. Some of them are Rs. 5 and some are of Rs.
2. If total amount is Rs. 294, then find the number of coins of Rs, 5.

UEhT &d STgehr=AT UyTEta 5 U= ¥ 2 sugi=t faga 75 A0t sngq. SrsAarsiass
UEHUT 294 wUF SHedrd 5 wuaie Aot feadr ?

X
In the adjoining figure {(XY) = 10cm. {(YZ) = 12cm;
N If AXYZ is isosceles and if XM L YZ and YN 1L XZ
Find £(YN).
? E 5 Hradear afehara  ((XY) = 10 9, ((YZ) = 12 9,
M T AXYZ &7 "afggs fHrentor s/@er snfor v XM L YZ

&/ YN L XZ 31&er a< {(YN) gimr.

A shopkeeper sold a watch at the loss of 5%. If he would have sold it by taking Rs. 75
more then there would be 10% gain. Then find the cost price of the watch.

UERT ERTIERTY Uah WSITa 5% AT faamer. 91T & /5 . 91T ThT OST ¥ famer
A T =TT 10% FTHRT TEAT ATAT. 97 =7 =TSt |ie et fehaa faaay 2

If average of 10 consecutive odd numbers is 22, then find the smallest number ?

10 TaaT faaw SEai=t Qe 22 3. 97 Jdent 9atd oTeTT 9Ear shiuTtar ?
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